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Introduction

- The paper: Children and Gender Inequality: Evidence from Denmark by Kleven,
Landais, and Søgaard. American Economic Journal: Applied Economics, 2019,
11(4)

- Background: fertility is thought to be a major driver of wage gaps (recall facts
from the CPS on this!)

- Reductions in experience
- Effects promotions
- Statistical discrimination
- Selection into occupation

- Paper estimates the “child penalty” - the effect of birth of the first child on
earnings and employment - and uses some descriptive methods to explore
potential mechanisms.
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Methodology Part (1): Raw Estimates

Main specification for person of gender g at event-time t and year s

Y g
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∑
j ̸=−1

αg
j 1{j = t}+

∑
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k 1{k = ageis}+

∑
y

γgy 1{y = s}+ νgnst

Notes:

- t = 0 is the year of first (the “event”) for each individual

- Model is identified from variation in the timing of the first birth

- Convert αg
t to a percentage effect by calculating:
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Methodology Part (2): Decomposition

Allow for differences in the child penalty by year:

Y g
ist =

∑
y

∑
j ̸=−1

αg
yj1{j = t}1{y = s}+

∑
k

βg
kXkns + νgnst

and decompose the wage gap into potential sources in year s:

∆s = E[αm
st − αw

st |s] +
∑
k

(βm
k − βf

k )E[Xm
kns ] +

∑
k

βw
k E[Xm

kns − Xw
kns ]

Important: Xkns must not be anything that can be affected “downstream” causally by
childbirth. Think pre-birth measures of investment such as education and initial
occupation.
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Robustness

They test their estimates of the child penalty two ways:

- Extend the data to include individuals who never have children. These are used to
form a control group in a difference-in-difference estimator. Same results.

- Compare the model’s estimates of the effect of birth of a third child to IV
estimates of the effect using the gender ratio of the first two children as an
instrument. Same results.



Last Exercise

The authors estimate penalties separately by relative work experience of maternal and
paternal grandparents.

Suggests some kind of intergenerational mechanism.
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Two Comments

- In general I find the resuls quite convincing, but...

- The model estimates imply that the first child has a positive effect on outcomes
for women in the 5 years prior. This seems fishy and they don’t comment on it at
all.

- When you don’t normalize by the outcome variables, the raw effects are quite big
for men as well as for women (will see this in recitation). No comment on this.
Do we believe those results also?

- Selection on timing of first birth could be driving all the results.
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